3 (Sem-4) HSC
2018

HOME SCIENCE
( General )

( Textile and Clothing )

' Full Marks : 40

Time : 2 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in Englishor in Assamese

1. State whether the following statements are
True or False : 1x5=5

woTs Ryl IRHAR VT & 95 s :

fa) The length of staple fibre is about 10 cm
to 30 cm.

of% iz o o So @M. o[ vo @AW
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(b) Lycra fibre is used to prepare sheen
fabric.
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{0 Loop yarn is an example of simple yarn.
3ot w7 T'a el T <1 TR |
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(2) (3)

- (d) Bonding is a method of non-woven 3. Write short notes on (any three) : 5x3=15

fabric cons@cﬁon. : & e forn (R ceen RofdY) ¢
'R TR AR FICAAA LESFIT Bt 1E |

Properties of nylon fibs
(e} Suction method is used to wash light (@) operties o fylon Hibre

weight fabric. R ST R
NS SR IR 47 I O 15 IRTR -
— (b) Knitting
Coe
2. Answer/Write on briefly (any foun : 2x4=8
5 &3/ ot (R oo E0)) : (c) Importance of clothing
(@) Define blended fibre. - _ TISRCDIFS. A
R < s fan o .
(d) Consumer rights
(b) Two rules of stitching garments ; (oo R
cetmor foesTar ot e _
(c) Two chemical properties of silk fibre (e) General principles of washing clothes
% A o% i o1 I of IR AT MR MR
(d) Two techniques of pattern alteration -
T AR 1 o (7 The Consumer Protection Act
(e) Mention the factors influencing in AR
consumer behaviour.
IR WRTE SR e IRFTE Seay 4. What is natural fibre? How is wool fibre
0 ’ classified depending on its quality? Write the
hemical properties of wool fibre. +3=
(0 Name any four absorbents used in dry ' chemt . prop 1.+2 3-6
cleaning. oRpE Wiz 7 eNem e[S R IR a1 iy
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(4)

Or / 91T

Write about the characteristics of yarn and
their uses. 4+2=6
TR JOR (A8 O R IR Rcw oy
Or/ J[1
Define felting. Mention the properties of felt.
2+4=6

wﬁsammﬁmﬂaﬂmﬁmcﬁ?ﬂs{mam
Ty 91

5. Mention the factors affecting in clothing
needs. Explain any two factors. 2+2+2=6

SSATBIF ACAEATCTS 2B LA FRPTR TCHY
391 1 R e O IR 3¢

Or/ WW
What is pattern making? Write about the
importance of. pattern making. 2+4=6
w1 A I CouERad R 7 T (AT ACEATS]
o o1

Or/ a3l
What do you mean by clothing budget? Why
is clothing budget important? Explain. 2+4=6
AGCAGIE IS P & o127 ECABR ACHOA
ofcare e 2 anam =4
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